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FIRST YEAR HIGHER SECONDARY MODEL
EXAMINATION, JUNE 2022
Part - 111
BIOLOGY
(Part — A Botany and Part — B Zoology)

Maximum : 60 Scores
Time : 2 Hours

Cool-off Time : 15 Minutes

(General Instructions to Candidates : )
* There is a ‘Cool off time’ of 15 minutes in addition to the writing time. Further, there

is a '10 minutes’ preparatory time " at the end of the Botany examination and before
the commencement of Zoology examination.

* Use the ‘Cool off time ' to get familiar with questions and to plan your answers.
*» Read questions carefully before answering.

» Write answer to the specific number of questions as instructed.

o Calculations, figures and graphs should be shown in the answer sheet itself.

» Malayalam version of the questions is also provided.

* Give equations wherever necessary.

» Electronic devices except non programmable calculators are not allowed in the
Examiniation Hall.
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PART -A
BOTANY
Maximum : 30 Scores

I. Answer any 3 questions from 1 to 4. Each carries 1 score.
1) Fill in the blank.

Reserve food of rhodophyceae is

2) Choose the correct answer.
Water loss in its liquid phase from the tip of grass blades is_____
a) Guuation
b) Osmosis
c) Transpiration
d) Imbibition

3) Name the special type of anatomy present in C, plants.

4) Fill in the blank.

Time : 1 Hour

Score
(3x1=3)

The process of breakdown of glucose to pyruvic acid is called

II. Answer any 9 questions from 5 to 17. Each carrles 2 scoves.

&) Write any two factors for seed dormancy.

6) List out any four external factors affecting photosynthesis.
Wi 7) Explain the significance of mitosis.

8) What is mesosome ? Mention any two functions of mesosome.
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PART - A
BOTANY
Maximum : 30 Scores
Time : 1| Hour
Score
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9) Observe the figure of citric acid cycle given below.

Identify (a), (b), (c) and (d) in the figure.

Pyruvate

CoA tc) NAD

NADH+H"

CO,
Acetyl c(oen)zyme A

(d)

| = L J(a
NADH+H* 4C) (6C) \._.COE )
NAD* s~ NAD"
ADH+H"
Malic acid _: (b)
(40) ver g OO
< CITRIC ACID CYCLE (O,
FADH, — L NAD
FADf.D' N - S~ NADH+H"
{—
(4C) 'aTR

10) Name the four different components of phloem in angiosperms.

11) Observe the figure of cell cycle given below.

a) Name the two phases of cell cycle.

b) Identify the stages (a) and (b) of the cell cycle.
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12) Differentiate Rough Endoplasmic Reticulum (RER) and Smooth Endoplasmic
Reticulum (SER).

13) What are bulli form cells ? Mention their function.

14) Observe the figure and label the parts (a), (b) and (c). Write down the functions of

root hairs,
= - : 7 ,.?‘: =
7 ®
SR
Root hair — =74 ps
:"I.“ Il.. e
1
1@
Root cap
15) Match the following.
Volvox Bryophyte
Pinus Algae
Salvinia Gymnosperm
Marchantia Pteridophyte

16) Define diatomaceous earth. Mention any one use of diatomaceous earth,

17) Observe the figure and identify (1) and (2).

Carrier protein

Membrane
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[11. Answer any 3 questions from 18 to 22. Each carries 3 scores, (3x3=9)

18) Define phyllotaxy. Explain any two types of phyliotaxy.

19) Explain the different steps involved in the formation of a root nodule in
leguminous plants.

20) Give any three differences between acrobic respiration and fermentation.

21) The functions of different Plant Growth Regulalors (PGR) are given.
Arrange them into respective columns.
» apical dominance
»bolting
«delay leaf senescence
»rooting of stem cutting
« avercome apical dominance

»increases the length of the stem

Auxin {bberellin  |Cytokinin

22) Observe the given dlagram of LHC.
CTﬂE:w nEo?i?r\:

Pholgn ] Redstion
_ Eg?:quggl‘ei
DBQ

-
8) Name the pigment that fortns the reaction center,

b) Name uny one nccensory pigment Involved in photosynthests.
¢) Mentlon the furietion of aecessory plgment,
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PART - B
ZOOLOGY

Maximum : 30 Scores Time : | Hour

Score

I. Answer any three questions from 1 to 4, Each carries 1 score. (3x1=3)
1) [n man, the first part of the small intestine is ‘C’ shaped and is called ____

2) Hyper secretion of GH : Gigantism : :
Hyposecretion of GH :

3) In a polysaccharide the individual monosaccharide are linked by

Peptide bond, disulphide bond, Glycosidic bond,
diester bond

4) Carbon dioxide is carried by haemoglobin as

I1. Answer any nine questions from 5 to 17. Each carries 2 scores. (9%2=18)

5) a) Differentiate between heterodont dentition and thecodont dentition.
b) Write down dental formula of man,
6) Observe the figure.

a) Name the parts labelled as A, B, C and D.
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PART - B

Z00LOGY
Maximum : 30 Scores
Time : | Hour

Score
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7) Complete the flow chart,

Nervous aystem

Peripheral nervous
syslem

)
- 5
Somatic neural B

syslem

Sympathetic nervous
system —

1) €=’

8) Vassopressin is also called antidiuretic hormone. Justify.

9) Observe the figure,

8) Identify the tissues A, B end C,

b) Name the tissue In which intercalated disc {s present,
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10) Taxonomic alds and thelr explanations given in two columns. Match them
correctly.

Taxonomic alds Explanation

Key Have collection of preserved plant and animal specimens for study
and reference.

Museum Contain Information on any one taxon.

Zoological park Taxonomic eld used for identification of plants and animals
based on the similarities and dissimilaritles.

Monograph The places where wild animals are kept In protected environments
under human care,

Contains the actual account of habitat and distribution of plants
of a given ares,

11) Observe the figure,

a) Identify the diagrammatic representation,
b) What does the QRS complex indlcates ?
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12} Fill in the blanks using appropriste words given below.

Ommatidium, Respiration, Gizzard, Excretory / organ
A Mosaic vision
Siracle““ .B.
Malpighian tubules _C
D Grinding food particles

13) Observe the figure.

Reissner’s membrane

Scala tympani

a) Identify A, B and C.
b) Write the function of organ of corti.

14) List out the following as oviparous and viviparous.

Corvus, Testudo, Canis, Felis

15) Compare the following.
#) Adipose tissue and areolar tissue,

b) Tendons and ligaments.

16) With the help of an example, explain metagenesis.
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17) Oxygen dissociation curve is given below.

b o

T
-'Elmi' |

_ e stet e o +
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3
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E * T/
m “
I
]

g 0 3a Ju T3] 1900
Pastin} prepsuro of oxygen (mm Hg)
8) Identify the body parts in which oxyhaemoglobin formation and oxyhaemoglobir
dissociation oceurs.

b) Mention any two factors which are favourable for the dissociatton of O, from

oxyhaemoglobin.
ITl. Answer any three questions from 18 to 22, Each carries 3 scores. (Ix3=9
18) Observe the diagram.
A
EiTarent
- == arterlole
A .
d . .
! )
\ /
‘ Proximal
, L,. | convoluled

tubula

a} [dentify the diagram,
b) Label the parts marked as A and B.
¢) What is glomeruluy 7
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19) @) Name three major categories of joints.
b) What do you mean by a Jjoint ?

¢) Give an example for Ball and socket joint.

20) Observe the diagrams A and B,

a) Name the symmetry exhibits by animals given in A and B.
b) Differentiate the symmetry of A with symmetry of B.

¢) Write an example for animal showing asymmetry.

21) a) Mention any three types of co-factors associated with enzyme,
b) Name the co-enzyme present in vitamin niacine.

c¢) What happens when co-factor is removed from an enzyme ?

ME 626 Biology 2024



LU RITTEHTTEL |

Score
19) 8) puwomenyg ayere ouymymy Anomie,gs mouleges (3TN aar B,
B) mmul agemmypwaemy aismct ngMoeT dmpfacenymar ?

€) anoge gy (srooh amxff acreowec) amo@id]) @03 PRORONEMS agytimye:.

20) A, B ag) amemed il ol o6 .

8) A, B agerfl alimemgion kemysngies madlafed (mieat]) agyeime.

b) A wyeswye B wysswye madlalad mard o ymypmessiems.

¢) mervadiof eoarlenimm sfialedes 80} PRIAODEM. ag)P iy

21) a) eonvourlegiaonl enumuegls 3 MEETIE)Es MaNIQISHEMBINS alOOPYD)d:.

b) ml@omidd agym sllcusemlad (afgoald) &:06Mmeqsi0m ManadmouTiwes

{38,005 MOOM0) BatOOP D).

c) &y eomaoriaiad miamye (van 2eISH:aRR Mo HaIGEMNIIR ag)® Merleao ?

ME 676 Rioloev 21/24



VR

| Score
22) Schematic plan of blood circulation of man is given below.

T

. Alveolarair

i pO, = 104 mmHg,

\p00, =40 mmHg,

N EQE
e B

a) Name two circulatory pathways,
b) Explain its significance.

¢) Comment on hepatic portal system.

ME 626 Biology 22/24



AP I

Score
22) om0 asm adtjmesiod ajlane aams maeloldenymy.
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